
Worksheet 06/22/2016

Problem 1 Find the limit with L’Hopital’s Rule

1. lim
x→0+

x lnx 2. lim
x→0

x2x

2x − 1
3. lim

x→1+

(
1

x− 1
− 1

lnx

)
4. lim

x→0+
(lnx− ln sinx)

5. lim
x→∞

(lnx)1/x 6. lim
x→0+

(
1 +

1

x

)x

7. lim
x→0+

x(lnx)2 8. lim
x→0+

sinx lnx

Problem 2 Evaluate the following integrals.

1.

∫
2x3 − 2x2 + 1

x2 − x
dx 2.

∫
cosxdx

sin2 x+ sinx− 6
3.

∫
x4

x2 − 1
dx

4.

∫
(x− 2)2 arctan(2x)− 12x3 − 3x

(4x2 + 1)(x− 2)2
dx 5.

∫
dx

x3/2 −
√
x

6.

∫
dx

x
√
x+ 9

Problem 3 Evaluate the following integrals

1.

∫ 2

0

dx√
1− x2

2.

∫ ∞

0

dx

(1 + x)
√
x

3.

∫ 1

0
x lnxdx 4.

∫ 4

−1

dx√
|x|

5.

∫ ∞

0

dx

(x+ 1)(x2 + 1)

Problem 4 Check if the following integrals converge.

1.

∫ 1

0

dt

t− sin t
2.

∫ π

0

dt√
t+ sin t

3.

∫ 2

0

dx

1− x
4.

∫ ∞

2

dx

lnx

5.

∫ ∞

ee
ln(lnx)dx 6.

∫ ∞

0

dx√
x6 + 1

7.

∫ ∞

1

dx

ex − 2x
8.

∫ ∞

1

√
x+ 1

x2
dx

1


